
Math 125    Homework



Name:________________________

Section 5.2 A

1.  How many factors does each of the following numbers have?


a. 2² × 3
b. 3³ × 5²
c. 5²× 7³ × 114
2.  a. Factor 36 into primes. 

     b. Factor each divisor of 36 into primes. 

     c. What relationship exists between the prime factors in part (b) and the prime factors 

          in part (a)?

d. Let x = 74 × 17².  If n is a divisor of x, what can you say about the prime factorization of n?










3.  Use the prime factorization method to find the GCFs. 

     a.  GCF (8, 18)

     b.  GCF (36, 42)

     c.  GCF (24, 66)

4.  Using the subtractive version of the Euclidean Algorithm, find the following. 

     a. GCF (138, 102)

     b. GCF (484, 363)

     c. GCF (297, 204)

5.   Using the division version of the Euclidean algorithm, find the following GCFs. 

     a. GCF (24, 54)

     b. GCF (39, 91)

c. GCF (72, 160)

d. GCF (5291, 11951)

6.  Use any method to find the following GCFs. 

     a. GCF (12, 60, 90)

     b. GCF (15, 35, 42)

     c. GCF (55, 75, 245)

     d. GCF (28, 98, 154)

e. GCF (1105, 1729, 3289)

f. GCF (1421, 1827, 2523) (*the answer in the textbook is wrong)







7.  Two counting numbers are relatively prime if the greatest common factor of the two 

     numbers is 1.  Which of the following pairs of numbers are relatively prime?

a. 4 and 9 

b. 24 and 123

c. 12 and 45 

8.  Use the (i) prime factorization method and the (ii) build-up method to find the   

     following LCMs. 

a. LCM (6, 8)






b. LCM (4, 10)





c. LCM (7, 9)


d. LCM (2, 3, 5)





e. LCM (8, 10)






f. LCM (8, 12, 18)

9.  Another method of finding the LCM of two or more numbers if shown.  Find the LCM   

     (27, 36, 45, 60).  Use this method to find the following LCMs.


	2
	27
	36
	45
	60

	2
	27
	18
	45
	30

	3
	27
	9
	45
	15

	3
	9
	3
	15
	5

	3
	3
	1
	5
	5

	5
	1
	1
	5
	5

	
	1
	1
	1
	1


Divide all even numbers by 2.  If not divisible by 2, bring down.  Repeat until none are divisible by 2.  Proceed to the next prime number and repeat the process.  Continue until the last row is all 1s. LCM= 2²× 3³×5 (see the left column)

  a.  LCM (21, 24, 63, 70)




  b. LCM (20, 36, 42, 33)





  c. LCM (15, 35, 42, 80)

10.  Find the following LCMs using any method. 

     a. LCM (60, 72)

     b. LCM ( 35, 110)

d. LCM (45, 27)

12.  Which is larger, GCF (12, 18) or LCM (12, 18)

13. The factors of a number that are less than the number itself are called proper   

      factors.  The Pythagoreans classified numbers as deficient, abundant, or perfect,    

      depending on the sum of their proper factors. 

a. A number is deficient if the sum of its proper factors is less than the number.  For example, the proper factors of 4 are 1 and 2.  Since 1+2 = 3 < 4, 4 is a deficient number.  What other numbers less than 25 are deficient?

b. A number is abundant if the sum of its proper factors is greater than the number.  Which numbers less than 25 are abundant?

c. A number is perfect if the sum of its proper factors is equal to the number.  Which number less than 25 is perfect?

16.  In the following problems, you are given three pieces of information.  Use them to   

       answer the question.  


a. GCF (a, b) = 2×3, LCM (a, b) = 2²×3³×5, b = 2²×3×5.  What is a?

b.   GCF (a, b) = 2²×7×11

      LCM (a, b) = 25 ×3²×5×73×11²,

      b = 25 ×3²×5×7×11.  What is a?

17.  What is the smallest whole number having exactly the following number of divisors?


a. 1


b. 2



c. 3


d. 4


e. 5



f. 6


g.  7


h. 8  

4

